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SAMPLE QUESTIONS

General English
1. Choose the correctly spelt word from the given alteration .
(A) Interchangeable (B) Interchangable (C) Intrechangble (D) Interchangeble
2. Choose the word from the alternatives which best expresses the meaning of the Idioms-Phrase:
Man of straw

(A) good for nothing ,(B) firm personality. (C) popular person, (D) shrewd person

General Awareness / Current Affairs.

1. Optic Fibers are mainly used for which of the following -
(A) Communication  (B) Weaving (C) Musical Instrument (D) Food Industry
2.  Who among the following took charge as the new Chairman of the Securities & Exchange
Board of India (SEBI) on 1t March 2017 .

(A) Mr. Yogesh Aggarwal (B) Mr. Ajay Tyagi  (C) Mr. T.S. Vijayan (D) Mr. UK.
Sinho

General Mathematics

1. A certain sum of money doubles itself in 8 years at simple interest. It will triple itself in :-

(A) 12 years (B) 16 years (C) 24 years (D) 32 years
2. The sum of ages of father and sum is 45 years. Five years ago, the product of their ages was
four times the father’s age at that time. The present age of the father and son

respectively are:

(A) 25 years, 10 years. (B) 36 years, 9 years  (C) 39 years, 6 years (D) none of
these



Reasoning ( Verbal & Non-verbal )

1. If L stands for +, M stands for -, N stands for x, P stands for =, then,
LAN10L42P2M8 = ?
(A) 153 (B) 216 (C) 248 (D) 251

2. Which of the following does not form a part of a group ?
(A) leaf (B) flower (C) fruit (D) force



